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Q-1:-Fill in the blanks: 

a)540+700= _____________ 

b)6980-0= ______________ 

c)678+0= _______________ 

d)3450+200= ____________ 

e)7500+2000= ___________  

f)8643-5000 = ____________ 

Q-2:-Round off the following numbers. 

a)To the nearest tens 

     (i)67 _________ 

     (ii)88 _________ 

b)To the nearest hundreds 

     (i)673 __________ 

     (ii)7854 _________ 

c)To the nearest thousands 

      (i)6789 ___________ 

      (ii)6754 ___________ 

Q-3:-Add the following numbers. 

a)5643+7896                                                                                          b)7654+6509 

 

c)7684+2577                                                             d)6754+5679 
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Q-4:-Subtract the following numbers. 

a)9876-6788                                                                                            b)6752-5889 

 

 

c)7850-5432                                                                                             d)4562-2679 

 

 

Q-5:-The table given below shows the number of bulbs produced in different 

factories in a day. Answer the questions that follow. 

 

 

 

 

a)Find the total production of- 

     (i)Factory1 and factory4 

 

    (ii)Factory3and factory2 

 

b)How many more bulbs produced by 

    (iii)Factory4 than factory2 

 

(iv)Factory1 than factory2 

 

Factory Number of bulbs 

Factory 1 6750 

Factory2 5439 

Factory3 7564 

Factory4 8976 
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Q-6:-Solve the following word problems. 

a)A school library has 7685 English books and 5430 Hindi books. How many books are there in the 

library? 

     

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________ 

b)There are 5125 students in the school. If the number of boys is 3809, Find the number of girls? 

 

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________ 

c)There are 4089 bags of wheat and 1896 bags of sugar in a store. Find the total number of bags in 

the store? 

   

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________ 
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